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Exam Style Questions

Quadratic Inequalities | ﬂl
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[Equipment needed: Calculator, pen, pencil & ruler ]

N J

Guidance

1. Read each question carefully before you begin answering it.
2. Check your answers seem right.
3. Always show your workings
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1. Solvethe inequality x>+ 6x+8 <0

2. Solvethe inequality x?+2x —35>0

(1+3)(2-5)=0 K ‘/)

1=~7 o 1:5 S5

3. Solve the inequality xZ—9x + 14 <0
(4= 7)(x-1)7 \
=7 o 11 N7
dENET
(3)
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4. Solvetheinequality x>—5x—-24<0

()L~§)(1+3 ):U

=4 « Y=-3

5. Solve the inequality x*>—121>0

(1—»1)(;””);0

1;// or =1l

6. Solve the inequality x> —x —30>0

/x-é)(ﬁ*‘f}?(}

i:é ar l;";

HHEN
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7. Solve the inequality  x2> 4(8 - x)

1t > 31-hl \ /
(1 7 > < -
g} 4?1»31, 0 ’5\__/9
[2+4)(2-¢)=0
L4 oo A=Y

8. Solve the inequallity 3x2 - 5x — 1 <4x2+ 7x + 19

g<x +1lx +70 \ /L
i 3
AP+ 1L +20 >0 »ro\/ﬂI

(%47)[’1H())?0

A:-1 o J:=-]0
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9. Solve the inequality —— <1
Ll x2+4

5¢ s L+ 4
oA -5+l
it T A

(2-1)(2-4)>0

=1 or Jé~‘(

10.  Solve the inequality 2x2+9x +10>0
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11. Solve the inequality 9x2-16<0

/3;6'4)[374 + Lg) >

;A

12.  Solve the inequality 25 < x2 < 64

19 ¢ 7

oy A'-19

(-5 ) 145) =0

N5 or X=-T
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13. Solve the inequality 7x2-22x+16<0

(4)
14.  Find the set of values of x for which x2-2x-24<0 and 12-5x=x+9
(2~ E)xry)e0 Sy
x:6 & Xs-y 35 b
bx &3
\ / 2§ b
4\ ] 6
b X <!
6 i
¢ ¢ v
;8 N |
' [}
-4 ‘/L &
< |
I AL AL
(6)
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15.  Find the set of values of x for which x2—100>0 and x2+8x-105>0

(210)(+10)

A<l o A210

(71* 7)[1 FIE) 0

7(:7“\]’:»1;

e| »
A

L5 oo X777

e o——
——0 P
f l ] {
~14 =10 .;;_ Io
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16.  The width of a rectangular field is x metres.

The length of the field is 30m longer than the width.

The perimeter of the field is less than 500m.
The area of the field is greater than 4000m?

By writing suitable inequalities, find the possible values of x.

1+ L+ I3V + L +30 (500
4,1 .}«éc <500
(oA < G4u
1110
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)[{1+}0) 7 4000
xl ./,301 > 4000
11+’30£'{7‘00070

(ub’a)[l’w):‘)

1:'\‘70 ol ,(Z;O

:5, 5o
750
A <3¢ of z 7
X




17. The area of this rectangle is greater than 40cm?

(2x-1) cm

(x+3)cm

Work out the range of possible values of x
(,“L ,‘)(7L+3) 7 4Q
b #bd -z -3 7 bo

At v -3 740

At +951 ~43 20

T P \ /

=1 b5 c:-43 bor s w50

bt ST ke
R e X< -b052.. X

e L 2%¢51%... &

l: sg.05,234‘,,
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18.  Find the set of values of x for which x2- 9<0 and 3X2-19x+20<0

1' - 4<0
(1-3)(1+3) <0
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(31 - 4 )[x *f) 0

ng on ]l‘;‘

\_J

33\/4
%<7(<?
55X<3




19.

(2x - B) cm

(x+2)cm

(a) Write an expression for the area of the triangle.

s (1) fm-5)

The area of the triangle is greater than 80.5cm?

(b) Show that 2x%2 —x — 171 > 0
L /76%1)(11’[’—) 7 Go-5
(1+z)(77’«“5—) > 14

At -5y iy 10 7 1l
12Xt -3 - )#1 70

(c) Find the possible range of values of x.
/’176 - (q)[l f q ) =0

7(;1% or Z:'q

A | /s

=
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